
Step 1: Remove factory bumper.  NOTE: You have to temporarily remove grille to access the final bumper bolt when 

removing. (See step 1).  

Step 2: Remove factory tow hook and install upper support bracket directly to frame cap.  Re-install tow hook using 

our longer bolts.  Remove factory fog lights from bumper and install factory fog lights (if available) to front bumper 

replacement using our ¼” bolts provided. 

Step 3: Mount Frontier Front Bumper Replacement to upper frame brackets using (½” X 1 ¾”) bolts provided. Check 

alignment of Front Bumper to truck during this step.   

Step 4: Install lower frame support bracket to outside lower frame cap bolt and lower frame bolt as shown (HINT: 

Loosen factory nuts and re-tighten).  Finally install bottom foot of Frontier Grille Guard to lower frame support bracket 

(1/2” X 1 ¾” Bolts).  

Step 5: Check alignment of front end replacement  to truck from side to side and tighten bolts.  Check alignment of 

front bumper replacement up and down to truck and tighten all bolts. 

10-14 Dodge 2500-3500 Installation instructions 

FBR #300-41-0006,  XFBR part # 600-41-0005, SFBR 

#120-41-0006   

 

Driver Side Step 2 Step 4 

Step 1 

Quant ity Descript ion

16 1/2"  Flat  Washers

8 1/2"  Lock Washers

8 1/2"  Nuts

8 1/2"  X 1-3/4"   Bolts

8 10mm X 50mm Bolts

8 10 mm Nuts

16 10mm Flat  Washers

8 10mm Lock Washers 

6 1/4"  X 1"  Bolts

12 1/4"  Flat  Washers

6 1/4"  Lock Washers

6 1/4"  Nuts

110 Tot al Pieces

Bolt  Bag Contents:

http://www.carid.com/frontier-truck-gear/
http://www.carid.com/off-road-bumpers.html

